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BH - Intrinsic Time Resolution

run#84 run#85 run#86 run#84+run#g

5+run#86
BH1 96.7 ps 92.4 ps 94.4 ps 94.0 ps
(w/ new PMT)
BH2 115.8 ps 108.2 ps 111.0 ps 111.3 ps
(w/ old PMT)
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TRG
144 x 44 x ? mm3
H1949-50

STR
10x10x4 mmsS
H3167B

Buffer
200 x 200 x 5 mms
w/ 25mm hole

BH1
120 x 40 x 6 mm3
_ H10570
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10 mm overlap each
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[front view]
30 July 2014

Setup

24 ToF scintillators
30 x 80 x 1800 mm3

2 trigger scintillators
30 x 80 x 1200 mm?
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Setup
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LED (V) N_all  N_O éNPE_avg
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Poisson Distribution

f(k;A) = Pr(X = k)
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